K737

Precision Ball Screws Standard Nut - Shaft Dia. 12, Lead 2, 4, 5, 10

Accuracy Grade C3, C5, C7

: Points of comparison between similar products | Consider using this product if the usage environment is a high-load, and high-frequency drive application.

Nut |womy| Part Number | fmmincrement Ball | Bal | Screw | Number |Basic Load Rating| Axial |peiadturge | mising
e T Accuracy | Shaft | | o Screw Shaft Nut Type | ®* | Type |swsuton|Lead L Y |[A|B|T|Z2WHR C ddih b, i Aot oCrois comm]cossiqs Rlayll{iiicmy Jeco
uf e e i eal
P YPe | Gue | Dia. [MMaterial| [Hardness | [Material | (lHardness 3| BSX 150~390 | L-68 1.54 | 2.05 |0pee)] 04~32
BSX C3 2,5 “Induction ) C5| BSS 02 1.5875| 12.3 | (10.6) 00050rLess | 1.0or Less | .
Standard Nut | BSS 05 | 12 [24,5,10] *ASI150 | Hardened | scmazo | Sarturized C7 | BSSE 150~445 e - 25 245 | 41 s - | hight
BSSE | 7 2,510 58~62HRC sandarg 02 | BSS 04 [ 150~400 | L-70 2.3812] 12.6 | (10.1) | turns | 3.6 | 6.75 |0005uLes|100rLess
“For 1202, screw shaft material SCMATS s carburized. Nt [ C3 BSX | 12 150~440 12[14 Trow| 374 | 49 [opetobi] 15-50]
C5| BSS 05 L-70 |44|34|10 45|50(40(45| 8 |44 00050rLess| 1.0 or Less
BSX1202 . c7 | BSSE 150450 1ol2 3175/ 12.8 | (9.5) 5951 98 Iiwim| -
12-0.25 "
35 12-0.29 C5 | BSS 15tums 00050rLess | 2.0 or Less| Right
g s 27 —L ‘ g8 5° C7 | BSSE 10 [200~600 | L-70 49|37 |12 48/541415.5/9.5|5.4 o 385 | 59 s -
@ =2 BRI kgf=Nx0.101972
S Q I s —
N AN 2 Ordering - Unit Price 1 ~ 4 pc(s).
RO.2 or Less 5 & g RO.2 or Less - @Example BSX1202 - 300 kory|  Part  [L150 201 [ L251 | L291 | L296 | L301 | L391 | L401 | L441 | L446 | L451
o \ ! )| ! = 8 @BSSE1210L - 420 (L Type Greased) Gude | Number | @ |L200| : ! : : ! ? ? ! !
85 | “A @BSSE1210G - 420 (G Type Greased) 199 250 | 290 | 295 | 300 | 390 | 400 | 440 | 445 | 450 | 600
o‘:‘t — R C3 [BSX1202 -
= E} [/ } ] I C5 |BSS1202 [ [ -
€05 ||/ co5 ] L4 0.5 | €05 C7_|BSSE1202 \ | =
i g C0.2
U.9+g'1 C5 |BSS1204 o
o1 — X 4-04.5 Through C3 |BSX1205 -
79 o 2-Seal 3 5 5 10 34 8¢ Depth 4.4 C5 |BSS1205 B
10 Y (Nut Motion Range) 43 15 \ M10x1.0 ] ‘ C7_|BSSE1205 -
Arrow View X-X C5 |BSS1210 -
L C7_|BSSE1210[ -
PatHumbe] - [ - (°G,KG -+ otc)
BSS, BSSE1202 Alterations BSX1202 - 300 - swcts
0
10-02 _ _
35 ‘ - ‘ Alterations Code Spec. Alterations Code Spec.
o
o2 58 27 8 No Machining on Support Side Shaft End Keyway on Fixed Side Shaft End ) i
~ a2 i . N Detailed Keyway Dimensions B P684| Adds a keyway on the fixed side shaft end.
g ﬁ X =5 JV == NC No machining added on the support side shaft end. KC KC=1mm Increment
= = — 2 2 NC O [Ordering Code) KC10
RO.2 or Less r == ~ R0.20r Less S (9)3<KC<14(9)
1 r S o3 L KC <KC<14(9)
©
B z | oy % i N = Ball Nut Orientation Reversed Keyway on Fixed Side Shaft End Adds a keyway at a customer specified area on the
So i t t N R N
o I 1 &2 a7 ) (Support Side) (Fixed Side) s i i e, p— fixed side shaft end. (Keyway dim. is same as KC.)
= / " &} [/ } T Std. RLC Al = KLC | K S=1mm Increment
co5 | | cos L L t02 €05 | €05 ; L K - S [Ordering Codel KLC-K5-S1
08 +g.1 . - Revised @4<K+5<14(9)
6 g*g" 2.5 X 3 4 4 9 No Retaining Ring Groove on Support Side Shaft End Flat Machined on Fixed Side Shaft End X X
- -Seal = 34 08 ot Dept 4 No Retaining Ring Groove on Support Side Shaft End. Adds a flat on the fixed side shaft end.
9 Y (Nut Motion Range) 38 10 |\ M8x1.0 Arrow View X-X RNC ANG O sC §C=1 mrg Incgsément
L o ) S Feis ot S o5 7
(®Combination with FC is not available. (®5<5C<14(9)
BSS1204 10355 Change Support Side Shaft End Mechining Changes the machining on the support side. 2 Flats Machined on Fixed Side Shaft End Adds two flats on the fixed side shaft end.
4 - Qs selectable from 6 or 8.(9)Y dimension is shortened. SWC  SGC. | swe SWC: 90° Position SGC: 120° Position
8 o 31 10 88 A5° Ei:@ GC  |G=1mm Increment = & SGC | 1mm ncrement
< 35 o RS e (Ocering Codel GC-08-620 Oering Cod SWC10
s = — X— s ’T’ g - (9)5<G<Qx3 @Not applicable to 1202 of C5 and C7. SWC.S6C 05} _|05 (®)5<SWC, SGC<14(9)
RO.2 or Less e 5 ’Ir: « R0.2 or Less g () Change Support Side Shaft End Length Egiqgﬁrsn ‘r:clreerrﬁgtm the support side shaft end. (®Dimensions in () are for 1202.
a2 1 2| = g (g Coé FC20
S 8,# : @, ® : C@ Size [ FC Range
g o7 | 7 FC TR Support Units Support Side
X‘\ L BN N 05| co5 1205 | 79 | 11sFcs20
C0.5 | || c0.5 o L b 0.2 : FC 1210 Nut Bracket
099 =, _ 4055 Throuch @Y di is shortened. Supnort Units Fixed Sid
+0.1 -5.5 Throug - y — - - - upport Units Fixed Side
790 2-Seal 5 5 5 10 M 095 Courterbore Deph 54 lPeripherals: Combination of the following parts is available.
10 Y (Nut Motion Range) 45 15 \M10x1.0 Arrow View X-X S
L
T 88 ®
BSX, BSS, BSSE1205 BSS, BSE1210 Support Units - Square Support Units - Round Nut Brackets - Block Type
A z_8_25 I Combination with Support Units I Combination with Nut Brackets
© 8 T oo M6x1.0 (Ol Inlet) Ball Screw Part Number Recommended Support Unit Ball Screw Part Number Recommended Nut Bracket
= S8 30 30° - Screw Part Number Fixed | Support Screw Part Number
2 58 = s (BSX1205 only) Tvpe  |snafton.| “°2 [Type | No. | Shape el Wi Page Type  |snaton.| “°29 [ Type No. | hage
5 52 — X — T 2 BRW 0 767 02 BNFB 1202 78
RO20r L g E e o OB c 0 BUR o | Found @) 7 Bsx 12 |04 | BNFM [1204 7
.2 or Less = 1’,: o R0.2 or Less c§ < ~ LSS BSW 10 Square O 7 BSSE 05 BNFR 1205 7
i | s < S V@it A< Bsx BUN 10 a O 762 10 BNFA__ [1210: 7
S i = A i = BRW 10 Round @) 7 (A variety of materials and surface treatments for Nut Brackets are available.
33 AL AN = 05 BUR 10 O P768 (P780)
S | W | C | \ / BSW 10 Square @) P761
/ N L N \Neos | Veos NN Z R 12 BUN 10 i O P762_ MNotes
5 jcos o, €02 @ 1 '@% BRW 8 | Round O P76 (9)Fillg with it soap based grease (Alvania Grease S2 made by Showa ShelSekiyu KK
09 o — X =J 02 BUR 6 ) 5768 (®Cautions: Do not let the nuts overrun or remove the nuts from the screw shafts.
79791 5 5 5 10 3‘2 A4-dThrough ga"'\\l’ g Square @) 5 "761 It may cause the balls to fall out or damage the ball recirculation parts.
. 2-Seal -] diCounterbore Depth h gggE BRW 105 @) ,;g_zl (%)Various grease opfions ae available. For Days to Shp, Price and specfications, A5 P.686 (GBS is not applicable.
10 Y (Nut Motion Range) 45 15 \ M10x1.0 04 BUR 10 Round @) P768 (®For accuracy of Ball Screws, see P2223 and P2224.
L Arrow View X-X 05 BSW 108 @) ’.761 (®For details of Support Units, see P753 ~ P778.
10 BUN 10 Square ) ’:762 (®Use one of the support unit accessory collars on the fastening nut side.
(®)0ther than the part numbers shown above, Support Units with various configurations and surface treatments are also available. (R761~P778)

Kl-738



